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ISR BILTREBHGEENATHRETIS

% g - AKTiE Bifr B 2 B i & #B w E
miEEER 637, 226
wREEs 4,918,248
EEIEH 4,246,210
MiEIER 453,000 + 2,124,000 2,577,000
HBERER (F) 4,246,210 x 10.68% ((8.56% x 1.2) x 1.04) 453, 000
RnEER 4,699,210 x 45.20% ((38.76% x 1.1) x 1.06) 2,124,000
THR 5,555 474 + 4,246,210 + 2,577,000 12,378,684
—REEEZ 12,378,684 x 21.61% (21.61% x 1.00) — 4,318 2,670,715
RERITE 12,378,684 x 0.04% 4, 951
WREKE 48, 455, 650
T &l 12,378,684 + 2,670,715 + 4,951 + 48, 455 650 63,510, 000
HBETEALE 63,510,000 x 10.00% 6, 351, 000
FRIZR 63,510,000 + 6,351,000 69, 861, 000




BEANRE BUTRBAHREAASHETSE

% R R& - MAKSTE BfL % B B ff ® #8 m o=
EEIZXE 4,246,210
HIEENAS 4,246,210
WERHRE - HET 1,373, 949
BHERE - AL (HASHKEE 567, 299
HASHIHEEE - BRE 84, 390
1 AASKHEMHE 1.00 60, 471 60, 471
V.
2 hASXAEHk 1.00 279 279
=
3 WASHKHRRE 1.00 23, 640 23, 640
#
hASRERE 69, 530
4 hASHRE 1.00 35,030 35, 030
a
5 hASEHE 1.00 34,500 34, 500
a
REFZE 10,017
6 RERHFHRE 3.00 3,339 10,017
&
SMHEERERERE 12, 694
T ShHERERE 1.00 5,710 5,770
a
8 SMHERERE 1.00 6,924 6,924
a
XFRAFRERE 40, 450




BEANRE BUTRBAHREAASHETSE

9 XFRAERNRE 1.00 23,200 23, 200
a

10 XFHRERME 1.00 17, 250 17,250
a

IVI—SREBERE 12, 694

1 TUoa—45%E 1.00 5,710 5,710
a

12 Toa—5H% 1.00 6,924 6,924
a

BIEQVN—SHRERE 12, 694

13 BEIVN—E2EZE 1.00 5,710 5,710
a

14 BEaIVN—2HE 1.00 6,924 6,924
a

JE— FERRENE 12,694

15 ) E— FERKE 1.00 5,710 5,710
a

16 YE— FERAZE 1.00 6,924 6,924
a

L2241 v FERERE 43, 280

17 L2R A4 v FERE 1.00 19, 620 19, 620
a

18 L2R A v FEAZ 1.00 23, 660 23, 660
a

L—5 RERE 17,310

19 L—5ERE 1.00 6, 960 6. 960
a

20 L—H A 1.00 10, 350 10, 350
a

RREEAEERENRE 147, 880

21 BEKERE 1.00 80, 900 80, 900
L
[=]




BEANRE BUTRBAHREAASHETSE

22 oY —ERE 1.00 4,640 4,640
b |
28 EREERE 1.00 57,700 57,700
&
24 &Y —ER%E 1.00 4,640 4,640
b |
BEEEREERE - A 39, 980
2% BREEEREESRE - AT 1.00 39, 980 39, 980
&
ME RS VRRE 5,986
26 MEMVAZRE 1.00 5,986 5,986
&
BB E 57,700
27 HRIBERE 1.00 57,700 57,700
8
HERRE - AT 542, 650
WASYIT I T7A VR =)L (FEE 500, 000
B - EEREEHRH. EILTREHIRR
28 AASYI I TFTAUR =L 1.00 500, 000 500, 000
=
MGEREERERAE (ELTREHERR 42, 650
)
29 UG REBERE 1.00 11, 600 11,600
&
30 BR{EFCEREBIAE 1.00 31,050 31, 050
&
YATA-4VT) b-Y3v (FEIL T HERT) 264, 000
YATA-4VT) L-Y3y 264, 000
31 VATL-AUTY b-Yay 1.00 264, 000 264, 000
=
BE - BLiRT 2,233,837




BEANRE BUTRBAHREAASHETSE

BEEL (hASHEEM 137, 229

EREREHE 7,785

32 EMEREHHE G16 3.00 369 1,107
m

33 EHMERERE G16 3.00 2,226 6,678
m

EREREHE 17,704

M EHEREMEE 628 4.00 641 2,564
m

35 EHMERERE G28 4.00 3,785 15, 140
m

EREREHE 31,098

36 EHEREMHE G28. EFTIEX 6. 00 641 3, 846
m

37 EHEREHE G28. EFTIEX 6. 00 4,542 21, 252
m

EREREHE 18, 444

38 EEREMEE G36 4.00 826 3,304
m

39 EHERERS G36 4.00 3,785 15, 140
m

EREREEHE 13, 880

40 EHEREMEE G54 2.00 1,375 2,750
m

41 EREREHE G54 2.00 5,565 11,130
m

EREREEHE 48,318




BEANRE BUTRBAHREAASHETSE

42 BEEREMHE G54, EPTIEE 6.00 1.375 8, 250
m

43 EMEREHR G54, mATIEXE 6. 00 6,678 40, 068
m

BRI (h A SHREEHF) 2,082, 921

BEELAT—IILEE EM-CE3. 5sq-2C. B MR 5,744

44 ENEHRM I E EM-CE3. 5sg-2C 4.00 211 844
m

45 BERECHR EM-CE3. 5sq-2C 4.00 1,225 4, 900
m

BEELAT—IILEE EM-CE3. 5sq-2C., THIF#R 2.170

16 BHEEREHEE EN-CE3. 55q-2C 1.00 211 211
m

47 THECHR EM-CE3. 5sq-2C 1.00 1,959 1,959
m

BEELAT—IILEE EM-CE5. 5sq-2C., B MR 9,108

48 ENERMHE EM-CE5. 5sq-2C 6.00 293 1,758
m

49 ERECHR EM-CE5. 5sq-2C 6.00 1,225 7.350
m

BEELAT—I LB EM-CE38sg-2C. EMEZ#R 28, 632

50 ENELRMME EM-CE38sq-2C 8.00 1,353 10, 824
m

51 BERERENER EM-CE38sq-2C 8.00 2,226 17,808
m

BEELAT—IILBE EM-CE38sg-2C. ZRZEfa#R 641, 364

52 BT — JVEERBHHE EM-CE38s0-2C 168. 00 1,353 227, 304
m

53 BAI-7" WEZEER EM-CE38s0-2C 6.00 69,010 414, 060

20




BERRE

BILTREBHGEENATHRETIS

BEEHRAT—TILEEE (BEMH) AT —T4 ¥ —22sq. FRERR 121, 140

54 ZRIRMHE Ayt DY —TJ4¥—22s5q 168. 00 85 14, 280
m

55 iR ALY =T —22sq 6. 00 17,810 106, 860

2

BRERYT— I LB EM-1E3. 5sq. EME#R 1,356

56 ENECHRMHE EM-1E3. 5sq 4.00 72 288
m

57 ENER EM-IE3. 5sq 4.00 267 1,068
m

HBRERYT— I LB EM-1E3. 5sq. THECHR 495

58 THHECRM M E EM-1E3. 5sq 1.00 72 72
m

59 FEHEZHR EM-1E3. 5sq 1.00 493 423
m

BRERT—J LK EM-1E5. bsq, EMECHR 752

60 ENEHEMHE EM-IES. 5sq 2.00 109 218
m

61 ENAECHR EM-1E5. 5sq 2.00 267 534
m

HBRERYT— I LB EM-1E5. 5sq. EMEC#R 3,384

62 BERNEHRMHE EM-1ES5. 5sq 9.00 109 981
m

63 EMEHR EM-IES. 5sq 9.00 267 2,403
m

HBRERBE EM-IE5. bsq. ZEZEER#R 187,932

64 BAT — T ILEERBEHMEE EM-1E5. 5sq 168. 00 109 18,312
m

65 BAI-7" WEZEER EM-1E5. 5sq 6.00 28,270 169, 620

2
A — T LB EM-CEE1. 25s5g-12C. BEMER 6,736




BERRE BUTRBHEENASRETE

66 ENEHRMHE EM-CEE1. 25s50-12C 4.00 459 1,836
m

67 ENECHR EM-CEE1. 25s50-12C 4.00 1,225 4, 900
m

HlEAs — I LB EM-CEE1. 2550-12C, EHE#R 2,418

68 F=HECMRAMME EM-CEE1. 25s50-12C 1.00 459 459
m

69 F&HECHR EM-CEE1. 25s50-12C 1.00 1,959 1,959
m

=% — 7 )L BHER S-5C-FB. EMNEC#R 2,276

10 ENREMHE S-5C-FB 4.00 57 298
m

11 ERNERR S-5C-FB 4.00 512 2,048
m

REh 7 — 7 JLERER S-5C-FB. EH 858

12 BHEREMHE S-5C-FB 1.00 57 57
m

73 THACHR S$-5C-FB 1.00 801 801
m

SAMERE 871,527

14 SARMME 10-19-3.5 2U9Y-M -) 6. 00 46, 200 277, 200
x

75 SlAREER 10-19-3.5 V9= ) 1.00 21,507 21,507
s

16 SLAMERE 10-19-3.5  2VHY-h&" -h 6.00 96, 470 578, 820
x

mERRE 7,869

17 REEMHEE FlEUEHA—X L100x7t 1.00 424 4924
&

8 REERE FlEEHA—X L100x7t 1.00 7,445 7, 445
&

BEHERET 13,530




BRHERRE BLTREARENATHELSE
79 DFEREMIM N E ¢ 10x 1500 .00 1,380 1,380
=L
80 DiE#i ¢ 10x 1500 .00 12,150 12,150
B
THERLEE WHMZZ 300 x 800 x 200 169, 630
81 BHEEREMHE WHM 2 .00 89, 060 89, 060
B
82 BHEHEHRE WHM g% .00 80,570 80,570
B
B4R T (FELL TR HARAR) 13, 687
MERAr—J LR EM-CE3. 5sq-2C. = &A% LE#R 13, 254
83 BRIZFIECARA R EE HDMI ~ 3m .00 5,760 11,520
x
84 BRIZFIEC AR HDMI .00 289 1,734
m
LANG — T L8135 Cat-be, ZAALE#R 433
85 LANER 3 #4 & Cat-5e .00 72 144
m
86 LANBZ#R Cat-5e .00 289 289
m
E#ERE 638, 424
EERE 638, 424
BHRE 638, 424
87 HWRE .00 638, 424 638, 424




Rifiz -/ \v7r—o

BILTRBHEENASHETE

&5 1
£ WA TIHMBE 1KY Y
% 5 R - AR R BAf H 2 B {f £ W = B &
HASZH Ti5&4E
= 1.000 18, 324. 00 18, 324
HASEHE Mg
= 1.000 41,719. 00 41,719
RARIL+ M16
ZN 4.000 107.00 428
= it YEZERED 1. 00K 60, 471.00 60, 471
&5 :2
B H A SHAER 1RXHY
% 5 R - AR R BAf H 2 B {f £ W = B &
EYMEHEES
= 1.00 194.00 194
BEL - #FAHER
= 1.00 85. 00 85
= it 1YE%HeH - 1.00K 279.00 279
%5 :3
B AASKERE B
% 5 R - AR R BAf H 2 B {f £ W = B =
ZHAERE (FEX) 400k gHKiiF FHEFM
= 1.000 23, 634. 00 23, 634
HHE (F50)
= 1.000 23, 634. 00 6
= it 1E%Heh - 1. 00& 23, 640. 00 23, 640




Rifiz -/ \v7r—o

BILTRBHEENASHETE

&5 4
B W ASHRE 184Y
£ 7 R - KT By = B Of | W E B &
BRABEHMNE
A 1.500 23, 200. 00 34, 800
RARIL+ M12
ZN 4.000 57.00 228
HME (F50)
= 1.000 35, 028. 00 2
= it 1E%fEH - 1.00& 35, 030. 00 35, 030
55
B W ASRAE 184Y
£ 7 R - KT By = B Of | W E B &
BRBERMNE
A 1.000 34, 500. 00 34,500
HHE (F50)
= 1.000 34, 500. 00 0
= it 1E%XHeH - 1.005& 34, 500. 00 34,500
5:6
2 REFRE MEZHY
£ 7 R - KT By = B Of | W E B =
ET
A 0.150 22, 260. 00 3,339
HHE (F50)
= 1.000 3,339.00 0
= it 1EZHEH - 1. 001& 3,339.00 3,339




Rifiz -/ \v7r—o

BILTRBHEENASHETE

&5 .17
B SWBEEBRE 154y
£ 7 R - BIRTE BARL 2 B Of | W E B &
BRBERMNE
A 0.100 34, 500. 00 3, 450
BRBEHMNE
A 0.100 23, 200. 00 2,320
HME (F50)
= 1.000 5,770.00 0
= it 1E%fEH - 1.00& 5,770.00 5, 770
%5 :8
B ShBEEBRE 154y
£ 7 R - BIRTE BARL 2 B Of | W E B &
BRBERMNE
A 0.120 34, 500. 00 4,140
BRBEHMNE
A 0.120 23, 200. 00 2,784
HME (F50)
= 1.000 6, 924. 00 0
= it 1E%fEH - 1.00& 6, 924. 00 6,924
&5 :9
B XFRERKE 154y
£ 7 R - BIRTiE BAGL 2 B Of o W E B =
BRABEHMNE
A 1.000 23, 200. 00 23,200
HHE (F50)
= 1.000 23, 200. 00 0
= it 1E%fEH - 1.00& 23, 200. 00 23,200




REAR-ET/Avr—> BILTRBARENASHBTE

H5:10
B XFRERRARE 184Y
2 Lo R - KT By B = B ff € &8 W E H %
BRBEHNE
A 0. 500 34, 500. 00 17, 250
HHE (F50)
= 1.000 17, 250. 00 0
& it 1EZ%8EH : 1.008 17, 250. 00 17, 250
&H#5: 1
&M T a—45H%E 184Y
2 Lo R - KT By B = B ff € &8 W E w %
BRBEHNE
A 0.100 34, 500. 00 3,450
BRBEREME
A 0.100 23, 200. 00 2,320
HHE (F50)
= 1.000 5,770.00 0
& it 1EZ%8EH : 1.008 5,770. 00 5,710
H5 :12
&2 T a—SHER 184Y
2 Lo R - KT By B = B ff € &8 W E w %
BRBEHNE
A 0.120 34, 500. 00 4,140
BRBERME
A 0.120 23, 200. 00 2,784
HHE (F50)
= 1.000 6, 924.00 0
& it 1EZ%8EH - 1.005 6,924.00 6, 924




Rifiz -/ \v7r—o

BILTRBHEENASHETE

H5:13
A BIEaUN—4KE 184Y
£ 7 R - KT By = B Of W E B &
BRBERMNE
A 0.100 34, 500. 00 , 450
BRBEHMNE
A 0.100 23, 200. 00 , 320
HME (F50)
= 1.000 5,770.00 0
& it 1EZ%8EH - 1.005 5,770. 00 , 170
H5: 14
L BIEEQVN—SRAR IEEP,
£ 7 R - KT By = B Of W E B &
BRBERMNE
A 0.120 34, 500. 00 , 140
BRBEHMNE
A 0.120 23, 200. 00 , 184
HME (F50)
= 1.000 6, 924.00 0
& it 1EZ%8EH - 1.005 6,924.00 , 924
H5: 15
2% JE— FERKE 184Y
£ 7 R - KT By = B Of W E B =
BRBERMNE
A 0.100 34, 500. 00 , 450
BRBEHMNE
A 0.100 23, 200. 00 , 320
HHE (F50)
= 1.000 5,770. 00 0
& it 1EZ%8EH - 1.005 5,770. 00 , 170




Rifiz -/ \v7r—o

BILTRBHEENASHETE

H5:16
&% ) E— FNERAR 184Y
2 Lo R - KT By = B ff | # H %
BRBEHNE
A 0.120 34, 500. 00 4,140
BRBERME
A 0.120 23, 200. 00 2,784
HME (F50)
= 1.000 6, 924.00 0
& it 1EZ%8EH - 1.005 6,924.00 6, 924
&H5 17
B L2RA v FEERE 184Y
2 Lo R - KT By = B ff | # H %
BRBEHNE
A 0. 340 34, 500. 00 11,730
BRBEREME
A 0. 340 23, 200. 00 7,888
HME (F50)
= 1.000 19,618. 00 2
& it 1EZ%8EH - 1.005 19, 620. 00 19, 620
H5:18
B L2R Ay FHE 184Y
2 Lo R - KT By = B ff o # w %
BRBEHNE
A 0.410 34, 500. 00 14,145
BRBEREME
A 0.410 23, 200. 00 9,512
HHE (F50)
= 1.000 23, 657.00 3
& it 1EZ%8EH - 1.005 23, 660. 00 23, 660




Rifiz -/ \v7r—o

BILTRBHEENASHETE

H5:19
A L—ARKE 184Y
2 Lo R - KT By = B ff | W E H %
BRBEREME
A 0. 300 23, 200. 00 6, 960
HHE (F50)
= 1.000 6, 960. 00 0
& it 1EZ%8EH : 1.008 6, 960. 00 6, 960
H5:20
B L—2 AR 184Y
2 Lo R - KT By = B ff | W E w %
BRBEHNE
A 0. 300 34, 500. 00 10, 350
HHE (F50)
= 1.000 10, 350. 00 0
& it 1EZ%8EH - 1.005 10, 350. 00 10, 350
&H5: 21
& BEREERE 184Y
2 Lo R - KT By = B ff | W E w %
BRBEHNE
A 1.000 34, 500. 00 34,500
BRBEREME
A 2.000 23, 200. 00 46, 400
HHE (F50)
= 1.000 80, 900. 00 0
& it 1EZ%8EH - 1.005 80, 900. 00 80, 900




Rifiz -/ \v7r—o

BILTRBHEENASHETE

&H55:22
& LU —%RE B ED
2 Lo B - BIKTiR BAf H = B ff | # H %
BRBEREME
A 0. 200 23, 200. 00 4, 640
HEE (F50)
= 1.000 4, 640. 00 0
& &t 1EZHEH ;1. 004 4, 640. 00 4, 640
H5:23
2 BEREERAE 154Y
2 Lo B - BIKTiR BAf H = B ff | # w %
BRBEHNE
A 1.000 34, 500. 00 34, 500
BRBEREME
A 1.000 23, 200. 00 23, 200
HEE (F50)
= 1.000 57,700. 00 0
& it 1EZ%8EH : 1.008 57,700. 00 57,700
HF5:24
B B —RR B ED
2 Lo B - BIKTiR BAf H = B ff | # w %
BRBEREME
A 0. 200 23, 200. 00 4, 640
HEE (F50)
= 1.000 4, 640. 00 0
& &t 1EZEHEH ;- 1. 004 4, 640. 00 4, 640




Rifiz -/ \v7r—o

BILTRBHEENASHETE

H5:25
2% BEEEREERE - # 184Y
2 Lo R - KT By = B ff | W E H %
BRBEHNE
A 0. 500 34, 500. 00 17, 250
BRBERME
A 0. 500 23, 200. 00 11, 600
Ehn
A 0. 500 22, 260. 00 11,130
HHE (F50)
= 1.000 39, 980. 00 0
& it 1E%8ERN : 1.008 39, 980. 00 39, 980
5 :26
B MEMNVAKE 184Y
2 Lo R - KT By = B ff o W E w %
LREEXER
A 0. 200 18, 800. 00 3,760
Ehn
A 0.100 22, 260. 00 2,226
HHE (F50)
= 1.000 5, 986. 00 0
& it 1EZ%8EH - 1.005 5, 986. 00 5, 986
&H5 : 21
2 RABERE 124y
2 Lo R - KT By = B ff o W E w %
BRBEHNE
A 1.000 34, 500. 00 34,500
BRBEREME
A 1.000 23, 200. 00 23, 200
HHE (F50)
= 1.000 57,700. 00 0
& it 1E%HESH - 1. 0028 57, 700. 00 57,700




Rifiz -/ \v7r—o

BILTRBHEENASHETE

&H5:28
B MASYIRDITTFTA R =)L ® (1K)
2 Lo R - KT By = B ff | # H %
YVILDTT7A VAR L—)L
= 1.000 500, 000. 00 500, 000
& it EZBER - 1.00= 500, 000. 00 500, 000
H5:29
2 RIFEREERE 184Y
2 Lo R - KT By = B ff o # w %
BRBEREME
A 0. 500 23, 200. 00 11, 600
HME (F50)
= 1.000 11, 600. 00 0
& it 1EZ%8EH - 1.005 11, 600. 00 11, 600
H5:30
B BBRREERE 184Y
2 Lo R - KT By = B ff | # w %
BRBEHNE
A 0. 900 34, 500. 00 31,050
HHE (F50)
= 1.000 31, 050. 00 0
& it 1EZ%8EH - 1.005 31, 050. 00 31,050
&E#S : 31
B VATA- AT LYy 1LY
2 Lo R - BAKTiE By = B ff | # w %
BRBEHNE
A 7. 650 34, 500. 00 263, 925
HHE (F50)
= 1.000 263, 925. 00 15
& it 1EZBER - 1.00 264, 000. 00 264, 000
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Rifiz -/ \v7r—o

BILTRBHEENASHETE

H5:32
2% EHEREMHEE G16 IGED)
£ 7 R - KT By = B Of | # B &
EHERE G186
m 1.000 321.00 321
fERE
% 15. 000 321.00 48
= it 1EZHESN - 1.00m 369. 00 369
5 :33
&% EREREHER G616 100mz% Y
£ 7 R - KT By = B Of | # B =
ET
A 10. 000 22, 260. 00 222, 600
HHE (F50)
= 1.000 222, 600. 00 0
= it 1EZ%HEH : 100.00m 2,226.00 222, 600
H5:34
2% EHEREMHE 628 IGED)
£ 7 R - KT By = B Of | # B =
EHERE G28
m 1.000 558. 00 558
fERE
% 15. 000 558. 00 83
= it fEZ8EH : 1.00m 641. 00 641
5 :35
&% ERHEREHER 628 100mz% Y
£ 7 R - KT By = B Of o # B =
ET
A 17. 000 22, 260. 00 378, 420
HHE (F50)
= 1.000 378, 420. 00 80
= it YEZERESD : 100. 00m 3,785.00 378, 500

11




Rifiz -/ \v7r—o

BILTRBHEENASHETE

H5 :36
2% . EHEREMHE G628, SATEX Tm%y
£ 7 R - KT BARL 2 B Of | W E B &
EHERE G28
m 1.000 558. 00 558
fERE
% 15. 000 558. 00 83
= it fEZ%8EH : 1.00m 641.00 641
5 : 37
2% EHEREHE 628, SFEXE 100m Y
£ 7 R - KT BAGL 2 B Of | W E B =
ET
A 20.400 22, 260. 00 454,104
HHE (F50)
= 1.000 454,104. 00 96
= it EZ8EEH : 100. 00m 4,542.00 454, 200
&5 :38
2% EHEREMHE 636 Tm&Y
£ 7 R - KT BAGL 2 B Of | W E B =
EHERE G36
m 1.000 719.00 719
fERE
% 15. 000 719.00 107
= it YEZHESN - 1.00m 826. 00 826
5 :39
&% EREREHER G636 100mz% Y
£ 7 R - KT BAGL 2 B Of o W E B =
ET
A 17. 000 22, 260. 00 378, 420
HHE (F50)
= 1.000 378, 420. 00 80
= it YEZERESD : 100. 00m 3,785.00 378, 500
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Rifiz -/ \v7r—o

BILTRBHEENASHETE

HFE5 40
2% EHEREMHE 654 IED
2 Lo R - KT By = B ff | W E H %
EHERE G54
m 1.000 1,196. 00 1,196
fERE
% 15. 000 1,196. 00 179
& it 1EZHESN - 1.00m 1,375.00 1,375
541
2% . EHEREHE 654 100m% Y
2 Lo R - KT By = B ff | W E w %
Ehn
A 25. 000 22, 260. 00 556, 500
HHE (F50)
= 1.000 556, 500. 00 0
& it 1EZ%HEH : 100.00m 5,565.00 556, 500
HE5 .42
27 EEEREMHE 650, BRER Tm Y
2 Lo R - KT By = B ff | W E w %
EHERE G54
m 1.000 1,196. 00 1,196
fERE
% 15. 000 1,196. 00 179
& it YEZHESN - 1.00m 1,375.00 1,375
5 :43
& EREREHE 654, SPEXE 100m4 1)
2 Lo R - KT By = B ff o W E w %
Ehn
A 30. 000 22, 260. 00 667, 800
HHE (F50)
= 1.000 667, 800. 00 0
& it 1EZ%HEH : 100.00m 6, 678. 00 667, 800
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Rifiz -/ \v7r—o

BILTRBHEENASHETE

HFs 44
£ ENERMFEIE  EM-CE3. 559-2C Tm%y
% FR A& - IR B £ B bl = " %
BEEHRT—TIL EM-CE3. 5s09-2C
m 1.000 211.00 211
=) &t E%8EH - 1.00m 211.00 211
5 :45
& ENERMR EM-CE3. 559-2C 100m=Y
% FR & - IR B £ B bl = " %
gL
A 5.500 22, 260. 00 122, 430
HME (F590)
= 1.000 122, 430. 00 70
a i %85 - 100. 00m 1,225.00 122, 500
HS . 46
&5 BHERMHE  EM-CE3. 559-2C Ty
% FR A& - IR B £ B bl = " %
BEEHRT—TIL EM-CE3. 5s09-2C
m 1.000 211.00 211
=) &t E%8EH - 1.00m 211.00 211
5 : 47
& EHERMR EM-CE3. 559-2C 100m=Y
% FR & - IR B £ B bl IS " %
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